
belastingen
＝(( +counterclockwise )) ΣMB 0

＝−−⋅Ay ((914.49)) ⋅15.75 kN ((2526.14)) ⋅32.962 kN ((8005)) 0

≔Ay =
⎛
⎜⎝
――――――――――

+39786.705 263860.81

914.49

⎞
⎟⎠

332.04

＝(( +up )) ΣFy 0 ＝−−+−332 kN ⋅
⎛
⎜⎝
―――
646.6

1555.3

⎞
⎟⎠

FDB 15.75 kN 32.962 kN 0

≔FDB =――――――――――
++332 15.75 32.962

0.4157397
915.746

＝(( +rechts )) ΣFx 0 ＝−Bx

⎛
⎜⎝
―――
1414.5

1555.3

⎞
⎟⎠

915.746 0

≔Bx =
⎛
⎜⎝
―――
1414.5

1555.3

⎞
⎟⎠

915.746 832.844

afmetingen

≔M =⋅⋅(( +⋅960 8895 ⋅461 3441)) 9.81 3.5 ⎛⎝ ⋅3.477 10
8 ⎞⎠

≔rod ≔rid 25 ≔σmax 690
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